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DOMAIN KNOWLEDGE

1.  What is a CMS in web design 7
(A) Content Management System
(B) Creative Managementl System
(C) Content Mixing System

(I Creative Managerial System

2, Which of the following statements is false ?
{(A) You can make 8 website without wsing HTML
{B) You can make a website without using PHP
{C) You can make a website without using CSS

{13} You can make a website without using Javascript

3. Which of the following statements is false about hosting ?
{A) Shared hosting is cheaper than dedicated hosting
(B) Shared hosting is safer than dedicated hosting
(C) Dedicated hosting is safer than shared hosting
(D) Though more expensive than shared hosting, Dedicated hosting is more

SCCLEE

4. Match the different sspects of service quality of a website with the typical values :

Cel A Col. B
1.  Availability == speed Reliability
2.  Average tEme I IETwer JueTies Tangibles i
3. Trust sl comSdenge. Responsiveness
4. Physical sppesssce sad comsmmmscsions  Assurance

M--5 1 P.T.Q.
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(A) 1-> Reliability, 2-> Assurance, 3-> Tangibles, 4. Responsiveness
(B} [-= Reliability, 2-> Responsiveness, 3-> Assurance . 4-> Tangibles
(C) 1-> Responsiveness, 2-> Tangibles, 3-> Assurunce, §-> Reliability
(D) 1-> Responsiveness, 2-> Tangibles, 1-> Reliahility, 4-> Assurance

Match the activities of website development with their descriptions

Col. A Col. B
1. Pre-development tasks A, Analysis and design.
2. Content planning B. Creating the page templates,

database code and coding. Adding

te the content management system.
3. Content development and testing C. Paid search marketing, Third-party

advertising,

4. Fr&laun»'::h promotion D.  Search engine notification, Prepare
press: releases.

3. Ungoing promotion E.  Domain name registration. Selecting
a host.

(A) 1> E 2>A, 3> B, 4> C, 5> D
(B) 1> A, 2>B,3>E 4> C, 5>D
(C) 1=>E, 2> A, 3> B, 4D, 5> C
(D) 1-=A,2>B,3>D, 4= C, 5> F

Which of the follow is a description of customer orientation of a website 7

(A) Providing specific content and services appropriate to different audience
members

(B} Determination of interface design through identifying the stapes o user needs/
follows when interacting with a system

(C) The menu options chosen to group and categorise information

() Providing an overall design to a website consistent with the positioning of
the products and services

2
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A graphical or text depiction” of the relationship between different groups of

content on a websie is g -
(A) Site icons (B) 1 frame

(C) | map (D} Site map

Also known ag schematics', this is a way of illustrating the layout of an individug)

web page -
(A) Schema (B} Scheme template
(C) Page template (1)  Page scheme

A simple mechanism for adding style (e.g. fonts, colours, spacing) to web documents

is a/are :
{A) Style Sheet (B)  Style Add
(L) Style Replicate (D)  Style Copy

When trying to sccess 2 URL, the following message is displayed on the browser -
Server; Emur 453

“‘hﬂhﬁ_hhmﬂv

(A) Ih-—l-ll.i:iumﬂahk

(B} m-.-h;i-.-iuuiﬂt is wmvalid

(C) The

(D) The




11. Which of the following statements is incormect regarding multimedia on the web 7
(A} The MPEG AIFF and WAV are cross-platform formats
() The SND format has a relatively low fidelity
(C) VRML can be used to model and display 3D interactive graphics
(D) The dynsrc attribute in the <img> element can be used to include videos in
weh pages.

12, What would be the colours of the RGB where the hexadecimal values are
AFFOD00, HOOFFOD and HOOOOFF respectively 7

(A} Red, Green, Bluc (B) Blue, Green, Red

(C) Green, Blue, Red (D} Green, Red, Blue

*®

{3. The elements <DIV> and <GPAN> have the following characteristics :
(A) Element <DIV= iiherits properties defined for <SPAN> in a stylesheet

(B) {DW}md{SPMI?hnwnureulnmingﬁmmml tags unless stylesheet

(D) ﬁDI\’?md-ﬂSPAN?mtmndusalmaﬂmfmthnzmm:P?

{4. Which of the following statements is NOT true regarding JavaScript ?
(A) JavaScript is @ loosely typed language
(B) JavaScript is an object-based fanguage - - =
(C) JavaScript is event driven

(D) A JavaSeripl embedded in an HTML document is compiled and executed
by the chient browser

M-5 4



15. The following is a web-page &

16.
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<htmi=

<hcad> <title>JavaScnpe<titie> <head>

<hiidy bpoolor="=0000>

<scrpl language="JavaScript™

<!— documentwrnite{"<h1> hello world </h1="); /--=

<fscrnipt>

</body>

</himl=>

When the above web page is loaded into a browser, what will happen 7

(A) The body of the web page will not contain any text

(B) The body of the web page will contain the text “<hi> helie world <hi>"

(C) The body of the web page will contsin e ton “hefle o™ = =
heading '

(D) document write("<hi> hello weorld <l

Consider the following script :
<htmi>
<head><title>JavaScript<ititle></head>
<body>

<script langunge="JavaScript®>

var =80

var b=(s=—80 ? "pass" :"fuil");
docurners wriie By

</scriper

</body>

</html> -
What will br S copee of hiﬂnh: script 7

(A) pass (B) fail

(C) 88 - (D) Ermor at-ling ' G-it. -

St et fal

P.T.O.
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The following web page is loaded into a web server -

<html=

“head><title=JavaScrip question<fitle><head>

<hody>

<seripl ngnw"luvaﬂcﬁm“}

book = new Amy{l,.",.].d.i.ﬁ.?.ﬂ}.‘

document.write(book] 1]);

book{10])=10;

dﬂtmn-&nl,wrim[bnnl-:[lﬂ]];

<seript=

<fbody>

</htm]=

Once the above mbmgpislmdedwhuvdl”tsbndy contain 7

a2 1
0 ”

(B) 1
10

(C) 110

(D) 210

Which of the following statements is FALSE regarding “Coakies™ 7

(A) Cﬂnkiﬂmpmgmms“ﬁchnminlhzbmkgmmdufﬂmwabcﬁﬂu

(B} Cookies haveﬂmputnnﬁnlufbemgundmﬁnh:thtpﬁvmufm

(€) Cookies are very helpful in keeping track of users in _developing online
dmpphgﬂﬂtnppﬁmmtpﬁnmuﬁmdpum}smdmud?uﬁainﬂmm
m L]

(D) Cookies cannot contain more than 4Kb of data
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Which of the following statements is frie regarding HTTP 2

(A) Web browsers use anly HTTP as a communication protocol with servers
(B) It docs not maintain any connection information on previous transactions
{(C} It 15 designed to route information based on content

(I3 It refers o resources using their Universal Resouwrce ldentifier (URI)

Which of the following is frue about XHTML 7

(A} It is a new hybrid technology that is different from both XML and HTML
(B) It has wotally replaced HTML as the tool for building Web pages

(C}y Itis a8 reformulation of HTML in XML

(D) It has to be converted to HIML using a style sheet.

While working on & JavaScripl project, in your JavaScript application, which
function would you use to send messages 1o users requesting for text input ?
{A) Display() {(B) Prompi()

{C) Getlnput() (D) Confirm()

Which of the following is TRUE sbout client-side script use in HTML documents ?

{A) Cheme side scripts are executed on the server and the resulting page will be
dosslonded and interpreted by the browser

(B) (== s=mds moyease the network traffic on execution of the sempt

(C) Ul s=gts o= Fﬁm many functions such as data validation and
pronic ElcSwe feedbeck o the user

(D) Beowsss st plag-as W coecmte chent-sude soripts.

M-5 7 P.T.0.
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26.

AJAX stands for :

{A) asynchronous javaseript and xml
(B) advanced JSP and xml

{C) asvnchronous ISP and xml

(D) advanced javaseript and xml

The universal time to which all machines must be synchronized is :
(A) American Standard Time (AST)

(B} Universal Coordinate Time (UUTC)

(€) Indian Standard Time (IST)

(D) Universal Standard Time (UST)

Which among the following contains real-time informatioh describing the function
provided by i server and their parameters 7

(A) Interface Repository (B) CORBA Facilities

(C) Replication Agent (D) Implementation Repository

Which of the following supports the capability of refurning pointers to other
mterfaces through COM object 7

(A) E;aﬂware interface (B) Transient interface
(C) Query Control (D) Query interface

JavaBeans Event Model is also known as :

{A) The Event Beans Model -
(B) The Event Service Model

() The Event Delegation Model

(I3} The Event Foundation Model
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29,

31,

.
Famihies of software 1Cs that play wgether are called ... ...
(A) Roles (B)  Suifes
(C) Objects (D) Companents
What request is issued by a managing station 1 read the value of a managed
object ?
(A) GET-NEXT (B) SET
(€) GET (D) TRAP

Which of the following are variables that represent the data elements in @ manaped

ohject ?

{A) Notifications (B) Attributes
(C) Operations (D)  Subscrips
The style of Messaging Remote Proceduse Call = -
(A) Queued (B) Not Quesed

(C) Call-Return (D)  Synchronized

Which is the protocol that provides a consistent naming schems to idestify o
web resources 7

(A) Unified Resource Location
(B) Unified Resource Locator
{C) Unified Raad Locator
(D) Unifsed Modeling Language

M-5 E P.T.0.
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The Internet standard protocol for e-mail retrieval is -
(A) TCPIP By IMAP
(C) SMTP (D) STMP

Which among the following are used to creale very concurrent; event-driven
server programs ?

(A) Threads (B) Monitor

(C) Semaphores () Binary Large Ohjects

Which of the following DO NOT allow multiple applications to participate in a
transaction 7

(A) Firewnlls (B) Routers

(C) Gateways (1) Switches

Which of the following is the oldest database mode] ?
{A) Relational (B) Deductive
{C) Physical (D) Network

Which of the following schemas does define a view or views of the database for
particular users 7

(A) Internal schema (B} Conceptual schema

(C) Physical schema (D) External schema

Wchnfﬂmﬁ:]luhingisanmﬁmmthmmmiqueiyidmﬁﬂ'nmwhn
table 7

(A) Secondary key | (B) Candidate key
(C) Foreign key (D) Alternate key
10
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Which of the following is the process of selecting the datg storage and data upoess
characteristics of the database 7

(A) Logical datahuse design
(B} Physical database design
(€} Testing and pPerformance tuning
(D} Evaluation asnd selecting

the data in a database ?
(A) Data security (B} Data constraing
(C) Data model (I3} Dara integrity

The relationship between DEPARTMENT and EMPLOYEE js g :
(A) One-to-one mlai_innship (B) (hl:«-tnhmnn}' relationship
(C) Many-to-marny relationship (D) Many-10-one relationship

(A) Committed (B)  Aborted
(C) Rolled back (D) Partially commitied

s

The process of managing simultaneoys aperations on the databass without having
lh:mimurfmwiﬂtun:amthar is ;

(A} Simultaneous Contro] (B) Sim Mode

(C) Concurrency conrg] (D}  Transaction manager

M_E 1 1 F- T.'D+
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Which of the following is NOT a deadlock handling strategy ©
(A} Deadlock prevention

(B} Timeout

{C) Deadlock detection and recovery

(D) Deadlock annihilation

Which of the following does refer to the size of the data item chosen as the unit
of protection by a concurrency control program 7

(A) Granularity (B) Lock

(C) Key (D} Load

Boehm suppests an approach that addresses project objectives, milestones and
schedules, responsibilities, management and technical approaches and required
resources. This principle is called a5.......vi.. "

(A) W3HH principle (B} WHO principle

{C) WSHH principle (D) None of these

Effective software project management focuses on the four P's. What are those
four P's 7

(A) Peaple, performance, payment, product

(B) People, product, process, project

(C) People, product, performance, project

(D) All of the above

What type of symmetric key algorithm using a streaming..cipher o enerypt
information 7

(A) RC4 (B) Blowfish

(C) SHA (D) MDS

12




S0, What port is used to connect to the Active Directory in Windows 2000 7
iA) 8O (B} BOED
(C) 389 (1) 445

S1. What are the types of scanning 7
{A) Port, Network and Services
(B) Port, Network and Vulnerability
(C) Pon, Network and Server

(D} Passive, Active and Interactive

52. Which database is queried by WHOIS 7
(A} ICANN (B} ARIN
{C) APNIC (D) DNS -

53 What is the referent object in contemporary cyber-security 7
(A) Digitalized sensitive information
(B} Cntical Information Infrastructures
(C} Government IT sysiems
(I} Telecommunication networks

5. In terms of cyber-security, what is meant by ‘resilience’ and why is it important ?
(A} Resilience refers to the ability of an IT system to identify and defend against
a cyber-securily threat.
(B) The only way to build a truly resilient IT system is to ensure that il can
repel all types of threat and remain and avoid atack, 2 f
(C) Resilience in an IT system refers to its ability to function when there are
no threals to its securily.
(DY) Resilience refers to the ability of IT systems to recover from aftack.
M--5 13 P.T.O.



55. Point oui the correct statement :
(A) Service Level Agreements (SLAs) is small aspect of cloud computing
(B) Cloud computing does not have impact on software licensing
(C} Cloud computing presents new opportunitics to users and developers
(D) All of the mentioned

56. Which of the following cloud concepts is related to pooling and sharing of

resources 7
{A) Polymorphism (B) Abstraction
{C) Virtuahization (D) Mone of the mentioned

57, Which of the following is most refined and restrictive service model ?
(A) lnaS (B) CasS |
(C) PaaS (D} All of the mentioned

58. How owns the Android Platform ?

{A) Omacle Allinnce (B) Open Handset Alliance
& Google Alliance (D) Dalvik Handset Alliance

59. What does the .apk stand for ?

(A) Android Program (1) Android Package

(C) Application Program (D) Application Package
60. Select a component which is NOT part of Android architecture 7

(A) Android framework (B) Libraries

(C) Linux kernel (D) Android document

M--5 14
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GENERAL ENGLISH

Choose the one which best expresses the meaning of the given word ;

QUERULOUS
{A) Critical (B) Curious
(C) Complaining (D) Ambiguous

Find out which part of the sentence has an error ?
You are kindly (a) requested to appesr in the (b)Y examination on time.(c)/ No

errord)
(A) (a) (B) (k)
(C) {c) (D) (d)

Pick the right meaning of the following idiom and phrase :
Hornet's nest

(A) A bee's house

(B) A violent situation

(C) A busy house

(D} A dangerous place

Choose the one which is most opposite in meaning 1o the given word :
Belittle

(A) Expand {B) Prohibit

(C) Inflate (D) Extol

Fill in the blank with suitable anicle :

He 5.0 EUropean. .
(A) an (B) a
(C) the (I} no article

M-5 15 P.T.0,




66, Fill in the blank :
Petrol prices, which have been on the rise for last several years, have.......... the
backbone of aulomobile industry.

67.

M-5

(A
(€}

joined (B) burst
broken , (M) alered

Directions & In guestion given below, the first and the last sentences are numbered
| and 6. Remaining sentences are named P, (. R and S. These four sentences are
not given in their proper order. Read the sentences and find out which of the four

combinations is correct :

Timing is critical in finance, especially if you want to make a profit.

P : It was a lesson leamt well by Delli based Munish Gupta when be sold his
house in 2018 within two years of purchasing it.

Q ¢ Of course, you need 1o pick a good time to take advantage of the apprecia-
tion in value, but it is equally important to keep an eye on the calendar to
avoid payving a hefly amount as tax.

R : Unfortunately, the 50 years old had no clug shout the tax implication of his
hasty decision. |

E': “The property was fetching me nearly 60% in profits on the initial invest-
ment, so when | got an offer 1o sell it, | immediately agreed”, says Gupta,
& brand consultant.

6 : Not only did he have to pay a substantial amoun! as tax on the profit, he
also had to shell out the tax exemptions that he was #vailing of on the home
loan. .

(A) QPRS (B) QPSR

(C) BQPR (D) SRPQ

16




68, Choose the correet option to complete the sentence given below !

69,

T,

The roof may have been leaking for the past few weeks but you do not have 1o

worry about it any lonper. L. now.
(A) is being repaired {B) is repairing
(C) was repaired (D)  has repaired

Pick out the most effective word from the given options 1o fill in the blank 1o

make the sentence meaningfully complete :

This, partly, explains how the Mechta family has been able to................its lavish
lifestyle in recent times, despite the fact that all its asseiz have been..........

(A) keep, removed (B) afford, attached

(C) develop, liguidated (D) keep up, destroyed’

Directions : Read the following passage to answer the given question based on it :
Laws of nature are not commands but statements of acts. The use of the word
"law" in this context is rather unforfunate, It would be better to speak of uniformities
in nature, This would do away with the elementary fallacy that a law implies @
law giver. If a piece of matter does not obey o law of nature it is punished. On
the contrary, we sav that the law has been incorrectly started.

The author is not happy with word 'law’ because :

(A) il connotes rigidity and harshness

(B) it implies an agency which has made them :
() it does not convey the sense of nature's uniformity

() it gives rise to false beliefs

M--5 17 P.T.O.




GENERAL APTITUDE

71. In 2 secret way of writing, INDIA HAS WON FIRST GOLD MEDAL is writlen
as JFZIU OUV SEF PIDVB REQZ ITZUQ. Bearing the method in mind, pick up
the code from the answer choices for esch given word ;. FOOT

(A) BEEB
(B) CEEA
(C} PEEB

(D) SEEZ

72. A is north-cast of B. The shortest distance between A and B is 10 meter. C is
south of A and cast of B, The distance between B and C is twice the distance
between A and E. The distance between A and C is twice the distance E and H,
E is north of A. H 13 east of E. H is 3 metres south of (i The shortest distance

between G and E is 5 metres. What is the shortest distance between point A and
H?

(A) 6 metres

EB} 7 metres

(C) 5 metres

(D} 4 metres

73. BHorsg : Gallop : : Duck : 7
(A) Strut - (B) Waddle

(C) Prowl (D) Trot

M--5 18




Directions : Study the following Pie-chart and table carefully and answer the questions
given beside :
A survey was conducted on 14500 people 1o find out various professionals in a own

and the percentage of female professionals amongst them.

Percentage of Female Professionals
Doctors 16%
Engineers 45%
Architects 38%
Teachers 65%
Lawyers 2%
Designers 53%

74.  If the percentage of female Lawyers is further increased by 50% and the percentage
of female Teachers is decreased by 20%, what is the current ratio between the
female Lawyers to the male ;l‘eachr:m d
(A) 3 :7 @ 1 :3
(Cy 5 13 (D) 2 :3

M--5 18 P.T.0,
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L3
Complete the series | 49, 60, 98, 102, 133, 7
(A) 139 (B) 145

(C) 140 (D) 130

Anant said to & lady sitting in a car, * The only daughter of the brother of my
wile is the sister-in-law of the brother of your sister”. How the husband of the
lady is related to Anant 7

(A) Matemnal Uncle
(B} Uncle
(C) Father s

(D) Son-in-law -

In = class, among the passed students, Amisha is twenty-second from the top and
Sajal, who is 5 ranks below Amisha, is thirty-fourth from the bottom. All the
students from the class have appeared for the exam. If the ratio of the students

who passed in the exam to those who failed is 4 @ | in that class, how many

students are there in the class 7

(A) 60

(B) 75 R
© 9% .

(D) Dsta inadequate

M—-5 20
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-
In the following question, & statement is given followed by some conclusions.
Without resolving anything yourself, choose the conclusion which logically follows

from the statement.

Statement : All that glitters 15 not gold.
(A) Non-metals also glitter.

(B) Mot all gems glitter.

(C} Only diamond plitiers.

(D) There may be deception in glittering things.

Select a suitable figure from the four allematives that would complete the figure

matrx,

T 4L
t—={t=—{l—
1?21

R ) s
M@ G @

(A) 1 (B) 2
(C) 3 ' (D) 4

Choose the alternative which is closely resembles the mirror image of the given

word :
BR4AQTEHI
(1) IHATOALAR (2) IHBTQALRE R
{3} IHBrQALRE {4) IHB FDALRE
(A) 1 1 (B 2
(C) 3 Dy 4
21 P.T.O.
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§1. Which one of the following is the commen factor of (47" 4+ 43%) and
(7Y +d3%"y ?
(A) (47 - 43) (B) (47 + 43)

Cy 4774+43% (1) Mone of these

Bl. Some articles were bought at 6 aricles for Rs. 5 and sold at 5 articles for Rs. 6,
Gain per cent 5
(A) 30 % (B) 33 %

(C) 35 % : (D) 44 %

83, Jai, Sunil and Kapil start a1 same time, same point and in same direction to run
mund&ahmdﬂrglmmd.himplﬁﬂamundinzﬁﬂmﬂunﬂhlﬂﬂ
aénﬂﬂdsnndh’.ﬂpilinliﬂsmmﬂs.ﬂminﬂﬂrw'l';uttimemlilhe}rmeﬂngulnnt
the starting point 7
(A) 30 min (B) 25 min

(C) 20 min (D) 15 min

84. Direction ; Study the following arrangement carefully and answer the guestion
given below :
XZ9/E4+5DA%OPIIGC@LIW=TFSUSREC27?

If all the consonants and the symbols are dropped from the given sequence, then
which of the following elements will be 9th from the lefi end ?

(M) 0 . B) 1

© u o 7
M-5 22
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If the minute hand of a clock has moved 300°, how many degrees has the hour
hand moved 7

(A) 25° (B) 1507

(C) 0° (D) 300°

If 0,09 = 0.9 = ¢ = 0.009 = 0,9 = b, then -E i
(A) 9 = 1073 (B) 9= 105
(C) &1 = 104 (D) 81 = 104

Two towns P and € are 275 km apart. A motorcycle rider starts from P towards
Q at 8 am. at the speed of 25 kmMr. Another rider staris from Q towards P at
9 am. ot the speed of 20 kmvhr, Find at what time they will cross each other 7
(A) 2 :45 pm {By 2:30pm
(€C) 1:35 pm (Dy 1:15pm

A sum was put at simple inferest at a certnin rate for 2 years, Had it been put at
2% higher rate, it would have feiched Rs. 400 more. Find the sum.

(A) Rs. 8000 (B) Rs. 9000
(C) Rs. 10000 (D) Rs. 12000

In a cricket match, 6 players had an average X of their runs. Average increases
by 1D runs, if seventh player makes a score of 112 runs. What is the average of
first 6 players 7

(A} 36 (B) 39

(C) 40 (D) 42

A father said to his son, "l was as old as you are at the present at the time of
your birth.” If the father's age is 38 years now, the son's age five years back was :

(A) 14 years , @) 19 years
(C) 33 years (D) 3B years

M-E& 23 P.T.O.



GENERAL KNOWLEDGE

91. With which arca was Meera Sanval associated, who died recently 7
(A} Acting (B) Classical music

(C) Banking management (12} Fiction writing

92. Duleep Trophy is associated with the game of :
(A} Football (B} Cricket
(C) Badminton . (D) Hockey

93.  First municipal corporation set up in India in the year 1687 :
(A) Madras Municipal Corporation
(B} Bombay Municipal Corporation
(C) Delhi Municipal Corporation .
(D) MNone of the above

94. Through which mountain range passes the Konkan Railway Track?
(A) Neelgiri Hills
(B) Himalayan Ranges
_(€) Eastern Ghat
(D) Western Ghat

95. The one rupee note bears the sipnature of :
(A) RBI Governor
(B) President of India
(C) Finance Migister
(I3} Finance Secretary




-

96. When were the first general elections held ?
(A 1920 (B) 1952

() 1962 (D) 1999

97. Ureenhouse gas which is present in very high guantity is ;

(A} propane (B)  ethane

(C) carbon dioxide {D) methane

98. World Environment Day is celebrated on the :
{A) 5th of June (B} 5th of July

&

(C) Sth of April (D) None of these

99. Camier of Dengue disease is :
{A) Anopheles Mosguito

(B) Aedes Mosquito

=
L.

(C) Culex Mosguito

(ID) Housefly

100. In which district of Haryana the Khaparwas Bird Sanctuary is located ?
(A) JThajjar (B) Panchkula
(C) Faridabad (D) Rewari
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